2.  In the stomach a ‘titration’ goes on when you take antacid tablets.  The acid concentration in a 
     stomach is 0.050M HCl and 68mL of excess acid is present.   How many antacid tablets, each 
     containing 50mg of Mg(OH)2(s), will be required to neutralise the excess acid?
     Hint: Mg(OH)2 is a base, remember acid + base ( salt + water.

5.  In the stomach a ‘titration’ goes on when you take antacid tablets.  The acid concentration in a 
     stomach is 0.050M HCl and 68mL of excess acid is present.   How many antacid tablets, each 
     containing 50mg of Mg(OH)2(s), will be required to neutralise the excess acid?
     Hint: Mg(OH)2 is a base, remember acid + base ( salt + water.

HCl + Mg(OH)2     (     MgCl2 + 2H2O

c = n/V


nHCl =   cHCl VHCl = 0.050 68 x 10-3 L

